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OsZEHHILE+HEHZS 15,000, 000 15,000
== 4,500
= 10,500
Ls&H 29 25,261 24,393 868
101 2124 4| 13,061 12,193 868
04 JIZtHI2E2EXNSE 13,061 12,193 868
OUs&H 29¢9 13,061
— QR (F=54Y, A2t L&
38,400 » 1Y = 262 128 11,981
—E2E2(102 - o) 11,981,000 * 2.4% 288
— 2HAH| 3,000 » 19 = 222 x 12& 792
201 et Y| 12,200 12,200 0
01 AR 22l ] 8,400 8,400 0
Ogbt=2H| 2,400
—LULIs&H 24 23 200,000 * 12&€ 2,400
Oexts 6,000
—LUs&EH &0t X 500,000 = 12& 6,000
02 3524t 3,800 3,800 0
OZ2Z222LHA 1,800
— M3 40,000 = 12& 480
— Aol ER2 30,000 = 12& 360

_13_



SN B
HaM: HIIS Ml & XN (SFFES/HIIS)
©9l: HII29 Xe s (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
— &3 - SHe3 80,000 = 12& 960
OH =4l 2,000
—22) 249 2,000,000 2,000
SZHHIEY HelAtg 1,500 1,800 A 300
= 1,500
301 dEtE A= 1,500 1,800 A 300
= 1,500
12 JIEtE &2 1,500 1,800 A 300
OsZHHIE M2 AL 1,500,000 1,500
= 1,500
AN=8dEH 29 3,564,366 1,918,958 1,645,408
SSHESHEALE 2 944,806 676,990 267,816
101 @1 21| 388,665 402,130 N 13,465
04 JIZtHIZ22XNHSE 388,665 402,130 A 13,465
omngg dg&dy 358,811
—QEA(A2L, =54 ILE)
38,400 = 25% * 28 * 12& 322,560
—B82(102 - M) 322,560,000 * 5.1% 16,451
— 2HANH] 3,000 * 259 * 224 » 12& 19,800
OANMEEH 29Y9 24,654
—QIEA(A2S, =54 TE)
67,570 » 18 = 282 * 128 22,704
—E2E2(102 - AHH) 22,704,000 * 5.1% 1,158
— 2HANH| 3,000 = 1 = 222 x 12& 792
OJI2ZtMZ2 2 X+ 1=l 200,000 * 269 5,200
201 Ypte | 152,000 212,360 260,360
01 AtR 22l ] 80,500 73,660 6,840
Oget=2H| 17,700
— NI =Ny 2922 100,000 = 12& 1,200
— N =sHEH 222 HE
1,000,000 * 23| 2,000
—gaE 37 100,000 = 23| 200
— 8 X0AT & HA= 700 = 8,00004 5,600
—E8E AMAIIA 10,000 * 10 100
— ANEE=SHEH HE2UWE A5
150,000 » 12& 1,800
— NJ=8HEH A52 A3 AP 3,200,000 3,200
— AB2AA =22 3,000,000 * 13 3,000
—AHes iz 50,000 = 12& 600
o294 24,800
— SR aC 24,000
=& H| 50,000 » 1Y * 365 18,250




SN B
HaM: HIIS Ml & XN (SFFES/HIIS)
Sl GREHME 29 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- LA 50,000 » 1¥ = 115¢ 5,750
—HIEAR HBHE MA+Y
100,000 * 2% * 43| 800
SR 2,000
—MEEHBUE 2 0FA22T 34
,000,000 2,000
Ogexts 36,000
—JI2ZtH 22X S2HA LI
3,000,000 = 1CH = 12&€ 36,000
02 33249l 71,500 138,700 A67,200
OZ2Z2=22 Al 7,250
—XNAX SEEEE 500,000 = 1CH 500
— XAHX EIBAE 150,000 = 1CH 150
—SHINEELSS(HEE) 300,000 » 23l 600
— MO ER3 500,000 » 12& 6,000
Od 24l 5,600
—HEesagd 5,000,000 * 10024 5,000
—z&els JtAa 50,000 = 12& 600
OAl&E & Hl |4l 30,750
—MHEsHEE S22 20,000,000 20,000
— 2L CCTV S Al&el 750,000 * 9JH A& 6,750
—2Z JHRR(F2A, 2Y) WE
1,000,000 1,000
— M=) L AEIEE 2SI A2
1,000,000 = 3CH 3,000
(@PNE=FaR=1a:] 15,400
— XA X+ 7,700,000 = 2CH 15,400
OZ2RE S UHaoezsd o= 12,500
— 222X S 22| 500,000 *» 25H 12,500
206 M = Hl 9,400 8,800 600
01 X2t 9,400 8,800 600
O&EEZ 450,000 = 12& 5,400
ORI oHgdZ2sH 2,000,000 * 2& 4,000
401 Al HI L 2 0HHI 394,741 52,000 342,741
01 A& HI 394,741 52,000 342,741
OZ2Z2MESHEANLE KANES 30,000,000 30,000
OXNS=8tHE A SLEBAH(IFANESHZ)
364,741,000 364,741
HIOIZMWEX 2 801,600 218,540 583,060
101 @121l 24,854 0 24,854
04 JI2ZtH 22 XNEE % 24,854 0 24,854
OANEEHHISHE o182 24,654




SN B
M HIIS8 Ml ¥ NAS(SHEES/HIIS)
el Hcsdy 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—o=Y(NLE, FRaY Za)
67,570 » 198 » 28 » 128 22,704
—BES(2E - &) 22,704,000 * 5.1% 1,158
— ZHAY| 3,000 » 198 = 22 = 128 792
OJI2tH 2= X Il=4l 200,000 = 1Y 200
201 LEr2 Y| 140,046 85,840 54,206
01 At 2teltl 68,886 40,080 28,806
Oget=&H| 65,886
—NESZZMEXN ELLILEAMN =22
4,500,000 * 200 A& 9,000
—MHEX =H =ZZA =2 22,480
Xote 8, &= 2
160,000 * 100H A = 12& 19,200
- XIot==Hi M= 1, S!S KI= 1
160,000 * 294 & = 42| 1,280
- NHE 2, 2dIEA 3
100,000 » 5K & * 42| 2,000
— &&=+ £ Ml 10,000 = 60& 600
—MHEX HE=ZY 3,000,000 * 33l 9,000
—HEANE 2SLES 600,000 600
—HSEAE HIEA =222
10,206,000 * 1J0H 2 10,206
—H=M HII=S ®IEXHe 14,000, 000 14,000
ogxtz 3,000
— S5+ 4l iz 3,000,000 3,000
02 =224l 71,160 45,760 25,400
O=323<LHA 2,500
—SEg=EEs 1,900
Exawl 700,000 = 1CH 700
-HEsES(EZEd) 1,200,000 * 1CH 1,200
—dJIFAE 200
=410] 100,000 * 1CH 100
Hast2(EZE") 100,000 * 1CH 100
— NS XA 200,000 = 20K 400
O =zl 5,000
— o - AL 2 5,000,000 = 10024 5,000
OA& &8l |Xldl| 19,500
—dEsHelAld JIASsX 2 4,000,000 4,000
— NEAE S22 500,000 500
—2CH HEX =ZEZ |22
4,000,000 4,000
—HZAE sz 4,000,000 4,000
— o - =SAE JIAHSA 2L 5,000,000 5,000




2M: 83
M HIIS8 Ml ¥ NAS(SHEES/HIIS)
el Hcsdy 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—2AZ JHRR(Fela, 2Y) WE
2,000,000 2,000
O Xte & Byl 44,160
— =40 16,500,000 * 1CH 16,500
—UHEsS(EZEy) 13,660,000 » 1CH 13,660
—YEE(5E) 22HA 14,000, 000 14,000
206 M= Hl 41,700 52,700 A 11,000
01 =8l 41,700 52,700 A 11,000
O&Yg&E= sttty 28 5,000,000 5,000
OASAZ(H4EH) 40,000 * 22/ H * 903 7,200
O%dx &5 50,000 * 50= 2,500
O=2&EM 30,000 = 600CH 18,000
ON&E gatzs 10,000 * 400%& 4,000
OgEMg I ez 2,000,000 = 1& 2,000
Og=sMy I ZEHEE 60,000 = 308 1,800
O&E= 100,000 * 12 1,200
401 AIEHI L 2 CHYI 580,000 80,000 500,000
01 A& HI 580,000 80,000 500,000
OHIISMHE XN KRAL= 30,000,000 30,000
OFE=XelAE HE=> 50,000, 000 50,000
OL% H&=4+22 WHMSAH(1,000m)
500,000, 000 500,000
405 TtHabF S 15,000 0 15,000
01 AL ESH SH 15,000 0 15,000
ogserA(10m) 5,000,000 = 34 15,000
MEHIIE A [AI&(MBT) 29g 1,817,960 910,600 907,360
201 LEr2 Y| 482,960 300,000 182,960
01 At 2teltl 2,960 0 2,960
Ogt+=&H| 1,000
—MEHIES UAASLH HAMH SS+=
=3 1,000,000 1,000
Oo=249=+¢ 1,960
—HIIZHeAEFEXNGFXNAE AN 3
oEA = 70,000 = 7H * 43| 1,960
02 =224l 480,000 300,000 180,000
O=323<LHA 480,000
—dIRe3 40,000,000 = 12& 480,000
307 21201 A 1,330,000 486,000 844,000
05 DIZteEt2 1,330,000 486,000 844,000
QMEHIIE MHMAIE(MBT) ASS I AL
1,330,000, 000 1,330,000




SN B
HaM: HIIS Ml & XN (SFFES/HIIS)
ool RA=BUE 2 CER-ED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
405 Ko SHI 5,000 124,600 A 119,600
01 JHAE =2 Z F S H 5,000 124,600 A 119,600
OYgseA(5m) 5,000,000 * 124 5,000
HESHALI(BF ) (OIEH/DIIE 67,386 66,518 868
Jl2AL (330 67,386 66,518 868
Jl2&Hl 67,386 66,518 868
201 LBt Y| 35,362 35,694 N 332
01 AR 22l ] 35,362 35,694 N 332
Ogbt=2d| 30,562
— S AMEX(AL) 25,300 *x 128tA « 12&8 3,644
—ZNBZE0Y L HESE 2,000,000 2,000
— & X=AI| X2 3,390
EUIIECI X 220,000 * 3CH = 43 2,640
SAI| =2l 250,000 = 3CH 750
— T2 X2 13,510
EUIERX 338,000 = 10CH * 23] 6,760
EUIIERIXI(Z2})
400,000 = 5CH * 33 6,000
Ty %2l 50,000 = 15CH 750
— A EH 114,500 * 20H = 23] 458
— W) AS 13,000 = 10CH * 123 1,560
— St 2 A HE 120 * 5& = 1,0000H 600
— StHAEH AT} 2 100,000 * 10& 1,000
—J2ARES 4,400,000 4,400
==l 4,800
— AZ2tAZ2 2 X EZ201AHI 4,800,000 4,800
202 044 25,344 25,344 0
01 2LHOHI 25,344 25,344 0
AR FXI2EHI
120,000 * 22 = 128 * 80% 25,344
203 ¥R =&H| 4,200 4,200 0
04 ENSHLRE=XH| 4,200 4,200 0
ORANSII2FXHI(2#F W) 350,000 = 128 4,200
405 XHo&HF S HI 2,480 1,280 1,200
01 A&t = S F S HI 2,480 1,280 1,200
Ogdyl A 530,000 = 1CH 530
O = At 1,950
— 2k 250,000 = 3K 750
—H 200,000 * 64 1,200
WEES=(2ZU)(FES/MNoIEE - =7) 2,033,197 1,612,046 421,151




2N
X ZH -
L= B
el

= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WEAHAXE(2E 1) 2,032,697 234,000 1,798,697
HEHH X = 2,032,697 234,000 1,798,697
404 SIOI 2 E= 250,000 0 250,000
01 BIILELENHUNENES 250,000 0 250,000
Od=+=CS83H N=2dE 250,000
— MNP HEE 247 HFIA
250,000, 000 250,000
701 JIEISI HEES 321,000 234,000 87,000
01 JIEtSIHE &S 321,000 234,000 87,000
Ox=ZIHHEE3AH HE 321,000
—2zIoYETUE MALANE S +ERUE
g g9 26,000,000 26,000
— S HFIMA(DIMSH Mo X))
zZH fE= 295,000, 000 295,000
702 J1S3HES 125,343 0 125,343
M II2d8E3 125,343 0 125,343
OHIISX2IANE =HND FUXJAIIS 88
=2 125,343,000 125,343
705 G~ AclS34E 1,336,354 0 1,336,354
ot ==d=4s 1,191,190 0 1,191,190
OHIISEMAIE (MBT)EX S22 8
A 2348 (2010,2011) 1,191,190, 000 1,191,190
02 Ol =3 0l A+ &t &t 145,164 0 145,164
OHIISEMAIE (MBT)EX S22 8
X Ol A+ &+ &H(2010,2011) 145,164,000 145,164
RSN 500 1,378,046 A 1,377,546
EXdRE 500 1,378,046 A 1,377,546
802 BHEt = JIEF 500 0 500
03 Ug=S 500 0 500
OSENAASE & HEHII= == &=
500,000 500




